P-1 (1+1+1) G /20 (N) / SUP
2020
SOCIOLOGY (General)

Paper Code : I -A & B
[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 50 Time : One Hour
Choose the correct answer.

Each question carries 2 marks.

1. Which of the following is not a feature of village community?
(A) Joint Family
(B) Heterogeneity
(C) Religion
(D) Neighbourhood

> | e @@ am FemicrE @Ry T
(A) T2 A[ER
(B) Rfewer
(C) wf
(D) =fret
2. A group in which one experiences ‘we-feeling’ is called
(A) Primary group
(B) Inherited Group
(C) Racial Group
(D) None of the above

2 @ CIBITe 4FG JfE S (@K SJed FCF OIF I60 T
(A) =efSs & ot
(B) TeAifasidt cand
(C) 3 cand
(D) (@A w7
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3. Who made the statement: “Man is a social animal”?
(A) Durkheim
(B) Aristotle
(C) Plato
(D) Karl Marx

©| “WeE G e enid—Tfe e
(A) o
(B) SmifsrBoe
(C) C2Iot
(D) et sl
4. Which one of the following is an informal group?
(A) Family
(B) Political Party
(C) Friends
(D) College Department

8 | foos b [ikafrge weie
(A) #ifF=
(B) A&tAles wel

(C) TR0 weT
(D) FCeECe [etel
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5. The word ‘culture’ is derived from the word ‘colere’ which is a —
(A) Greek word
(B) French word
(C) Latin word
(D) None of the above

¢ | AR BEE * “culture’ TES FACR FEE A “colere” 1 (AT @D
a6 *|

(A) A =<
(B) =<1 =%
(C) wifes ==
(D) @A T
6. Which among these is a feature of culture?
(A) Language
(B) Values
(C) Learned Behaviour
(D) All of the above

Y| G W (PG g IRy
(A) ofl

(B) [0Cy
(C) Il =mege

(D) T7faSe oo
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7. Which of the following is an example of material culture?
(A) Norms
(B) Beliefs
(C) Values
(D) Clothes

q| NS @ SomEs Acghion Tulgad 2
(A) fam
(B) far
(C) T
(D) cotrie
8. Which of the following is not an institution?
(A) Education
(B) Religion
(C) Economy
(D) Marriage

o~

v | e @il afsdim w2
(A) Bt
(B)
(C) wigifs
(D) fa=rz
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9. Who is the author of the book, “The Presentation of Self in Everyday Life?
(A) A. Franklin Giddings
(B) B. G H. Mead
(C) Erving Goftfiman
(D) Charles Cooley

| “The Presentation of Self in Everyday Life” 3203 (514& (F2
(A) €. FIFhE fifug
(B) 7. & «¥zp. fiw
(C) wIifeR srFsyie
(D) b1t et
10. Who has distinguished between ascribed and achieved status?
(A) R. K. Merton
(B) Talcott Parsons
(C) Ralph Linton
(D) Max Weber

so| WA ¢ wfers IR Wy AL (F ST FCACR ?
(A) IE. . W6
(B) DIFTFG ST
(C) ieTg ferei
(D) T3 ST
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11. Sex, Age and caste are all examples of
(A) Ascribed status
(B) Cultural status
(C) Achieved Status
(D) Biological Status

Sy fomt, e WO R G TwiRee |
(A) =T =l
(B) vikgfos
(C) wifets wffwi
(D) tafee wEfmi
12. Who used the concepts of ‘caste’ and ‘role’ in sociology for the first time?
(A) Merton
(B) Linton
(C) Weber
(D) Berger
53| MG @I AT (& I ¢ G’ giReiaf R I ?
(A) SO
(B) foro
(C) e
(D) e
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13.

59|

is known as a legal sexual union.
(A) Work
(B) Marriage
(C) Cohabitation
(D) Divorce

(3 3 ¥ Wz (T e |

(A) =f

B) a2
(C) =™
(D) fozn

14. Brushing your teeth is an example of

(A) Mores

(B) Taboo

(C) Folkways

(D) None of the above

S8 We WS & aF Swigde |

(A) FTFAINS

(B) ffazsae
(C) FIIBR
(D) (@A w7
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15. It is difficult to determine the biological father of a child in

marriage.
(A) Polyandrous marriage
(B) Cross-Cousin marriage
(C) Exogamous marriage

(D) Polygynous marriage

sel e seieR (wike forel dfe war 3o
(A) Tzsifs Ra
(B) =i farz
(C) ez
(D) =gl @R

16. When one woman has more than one husband it is known as
(A) Monogamy
(B) Polyandry

(C) Polygyny
(D) None of the above

SY | T GG WA GRIHT FE, o @13 R e

(A) @Fafftrel

(B) Jzvifs K=
(C) T=gl AR
(D) FICE 7
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17. Which of the following is not an active agent of socialization?
(A) Family
(B) School

(C) Government

(D) Society

va | fasfiiie @E AMERaCR Aew S 7397
(A) #ifF=
(B) fmrer
(C) T
(D) e

18. Socialization is based entirely on

(A) Political interaction
(B) Economic interaction
(C) Social interaction

(D) Universal interaction

v | AMIGRIae o @9 ol g |
(A) FEtafes el
(B) wisftafe= fafgal
(C) AmfE=s ez
(D) ety frafze
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19. The caste system is a
(A) social institution
(B) Religious nstitution
(C) Economic institution
(D) Political institution
solTfe g @se |
(A) AN e
(B) ¥ afeDE
(C) weftafess afowE

(D) AT e

20. ‘Class’ is an example of
(A) Religion
(B) Social Stratification
(C) Co-operation
(D) None of the above
0| ARG coffd g5 Tuigge |
(A) «f
(B) I A=
(C) wzralfare!
(D) @A T
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21. Who is the author of the book, “Rural Sociology in India”?
(A) A. R. Desai
(B) Kingsley Davis
(C) D. N. Majumder
(D) B. R. Ambedkar

33 | “Rural Sociology in India” I2b7 (GRS (F?2
(A) €. 9. ™17
(B) =CH (wfeA
(C) f©. @=. Srepmia
(D) . o=, =
22. Which of the following is not a Rural Development Policy in India?
(A) NREP
(B) IRDP
(C) MGNREGS
(D) JNNURM

23| ffele @ erres «& T Gife w32
(A) NREP
(B) IRDP
(C) MGNREGS
(D) INNURM
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23. The industrial revolution began in Europe in which year?
(A) 1900
(B) 2000
(C) 1760
(D) 1950

20 | A SR 4151 =2 (Pl AT W 7
(A) Sso00
(B) 000
(C) >avo
(D) s»eo
24. Which is not a feature of an urban community?
(A) Anonymity
(B) Homogeneity
(C) Slums
(D) None of the above
38 | (I Tl TR CIBy 2
(A) TR
(B) vTrge!
(C) af%
(D) THATF (DB 717
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25. Who is the author of the book, “Village India: Studies in the Little Community”?
(A) Oscar Lewis
(B) M. N. Srinivas
(C) McKim Marroit
(D) A. R. Desai

3¢ | “Village India: Studies in the Little Community” J2{63 (F14F (2
(A) S 2
(B) @. @, Hferam
(C) sy smifs
(D) Q. =<, (I
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P-1 (1+1+1) G /20 (N) / SUP
2020
SOCIOLOGY (General)

Paper Code : I - B
[New Syllabus]
(Supplementary)

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Group-A
Answer any two questions from the following : 16x5=80
Section - I
. Define Sociology. Discuss the nature and scope of Sociology. 4+12=16

. What is social group? Discuss the different types of social group with suitable

examples. 4+12=16

. What do you mean by social control? Discuss the different agencies of social

control. 4+12=16
Section - II

. Define family. Analyze the changes in the structure and functions of family.
4+12=16

. What is marriage? Discuss the significance marriage as social institutions.

. What is social mobility? Discuss the different types of social mobility with
suitable examples.

Section - II1

. Define rural society. Differentiate rural society from urban society? 4+12=16
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8. What is urbanization? What are the major problems of urbanization? 4+12=16

9. Define industrialization. What are the major constraints of industrialization in
India? 4+12=16

Group-B

10. Answer any four questions from the following : 5x4=20
(a) Write a short note on assimilation.
(b) What is social change?
(c) Briefly discuss the elements of culture.
(d) What are the different rules of marriage?
(e) Briefly discuss difference between caste and class.
() What is lineage?
(g) What is green revolution?

(h) Who are the unorganized laborers?
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so| (I (T BIED 4T Ted 7l : @x8=30
(F) SMERFACR 997 @FH O (714 |
(¥) AW 2IfFae FICF AT 2
(o) Ao TAMMSTT ACTHC SNCETb=l 37 |
(%) R@es el & e
() @ifs @2 (el #(12(q ACHCA ST 354 |
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